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�) CH ≡ CH + H2O 
�����

�� >   CH3CH=O

CH ≡ CH +H2 → CH2 = CH2 
���+ > CH3CH2Br 

��+ > CH3CH2MgBr

CH3CH=O+CH3CH2MgBr���3CHOMgBr
�� �+

>CH3CHCH2CH3+Mg(OH)Br

                                                  CH2CH3                         OH
CH3CH2CHCH3+6NaOH+4J2���3CH2COONa+CHJ3+5NaJ+5H2O

            OH
�) i) 7z: 1s2 2s2 2p3

ii�����������������	
�
���	����
�
����p
iii) 3Li: 1s2 2s1           ��. ���	���3Li�
��������	���7	��	�������	
�
��
                                              �i 3Li<Ei 7Z
iv) 2S2: n=2               l=0                ml=0               ms=+1/2 (2,0,0,+1/2)
            n=2               l=0                ml=0               ms= -1/2 (2,0,0, -1/2)

     2p3: n=2              l=0                ml=-1              ms=+1/2
                                                      ml=0               ms=+1/2
                                                      ml=1               ms=+1/2


���������������
��������
��

7Z: 1s   2s   2px   2py   2pz
�������     �����������������������
�������������������������������������

        ..      ..                                 ��������	
�������
��	���
�

����������	
            ..   �������
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�) i) CH3CH2CH2COOH+NaHCO3���3CH2CH2COONa+CO2�
�2O
    ii) CH3C
��
����
��3���3C
����
��4Cl

iii) CH3CH=CH2+Br2
���	

> CH3  CHCH2Br

                                                           Br
iv) CH3COCH3+4NaOH+3J2���3COONa+CHJ3�
����
��2O

���i�����	��������
	����������������
    ii�������C���
�CH2=CH2�
���� ��	��sp2

���������� ��
����������
���p������

��
� ��	���
� ���� ���������� ��
������� �������� ��� ����� C� ���� ��� �



����
���
�������	��������
	��
�����
���sp2-s�������
���
��� �C�����

����
��������
������
����	����������sp2- sp2 

����
������p2 – p2)
���i������ii������iii������iv������v������������

�����
�

�����n����mol��
�����
�������CvH2v+1COOC�H2�
�

CvH2v+1COOC��2�
�
�2��CvH2V+1 COOH + C��2�
���

n                                                         -                        -
-n/3                                                   +n/3                  +n/3
2n/3                                                    n/3                    n/3
������� �� ����
��� �	���� ������� ���
��
����� n/3 mol� �	���� �

n/3=0,0333�n=0,1
��� ������� �
� 
��� 
����������� �	���� ���� ����� �
� HCOOH
5HCOOH+2KMnO4+3H2SO4��CO2�
K2SO4+2MnSO4+8H2O
����r�����������v
���
����������
��	��	�������
������
	�����
��������

������
����


       

  OH
������� ��� 
��	����� �	���� 
����� �
�� �
�� �������� ��� Tollens� �� �
�� �	���
�������� ���� �� ���� ����
������ ������� �� �� CH3CH2CH2OH K2Cr2O7/H

+

CH3CH2CH=0  AgNO3+NH3     CH3CH2COONH4

i) ���: HCOO���2CH2CH3           molA= n = 0,1
ii) 5mol HCOOH �� 2mol KMnO4 ���������2

 0,1/3               ;0,2/15              ;0,1/3mol


/��  MnO4 0,2M

1000ml       0,2mol
V1               0,2/15           V1= (0,2/15) . (1000/0,2) = 66,6ml����
�

�CO2=(0,1/3) .22,4L

�������

�) CH3CH2NH2+H2O�CH3CH2NH +
� +OH-

         C1                            -                  -
         -X                           X                  X
      C1-X                          X                  X

Kb� �

�
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CH3CH2NH2+HNO3�CH3CH2NH3NO3

���������������������������������������
�

�������
�������������
����PH�� ���������

[CH3CH2NH3NO3]= C3= Μ
	��

β

[CH3CH2NH2]=C2= Μ−
	��

�	�� β

E.K.I
CH3CH2NH2+H2O�CH3CH2NH3

++OH-, CH3CH2NH3NO3�CH3CH2NH3
++NO3

-

       C2                             -                 -                 C3                       -
    -Y                              Y              Y                -C3                      C3

     C2-Y                          Y              Y                  -                        C3

K�� 
�	��
�

�
�

�

�
��	��

	��	��

�	��
��
��
 ��

	

�

�	

�

� =⇒=−⇒=⇒=⇒ −− βββ

 �) 
��: mol ��	��� = C1V1=0,1.1,5=0,15
             mol HCl      = C2V2=0,3.0,5=0,15

CH3CH2NH2+HCl � CH3CH2NH3
+Cl-

     -0,15         -0,15              +0,15mol

�������

[CH3CH2NH3Cl]=C3= �����
�	

�	�� =   & [CH3CH2NH3
+]=C3=0,09M

CH3CH2NH3
++H2O�CH3CH2NH2+H3O

+

C3 -   -
-w w  w
C3 –w w  w

Ka ��

�

�
�
�
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=⇒= ���������

���: PH=5,5


